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Instructions :

(i) Attempt any five questions.

(it)  All questions carry equal marks.
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(a)  Describe simple chain drive with sketch. Compare a chain drive
with a gear drive.

(b)  Explain the function of a superheater.
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(a)  Explain the working of a Cochran boiler.

(b)  Explain the working principle of water turbine.
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(a)  Explain with a neat sketch the working of Kaplan turbine.

(b) Draw a neat sketch of speed cone pulley.
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(a)  Describe the working of a four-stroke diesel engine.
(b)  Explain the function of a tower crane.
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(a)  Describe the working of a hydraulic jack.

(b)  Give the function of a clutch.
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(a)  Describe the working of a two-stroke petrol engine.
(b)  Explain the function of a Bulldozer.
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(a)  Give the classification of boilers.

(b)  Give the application of I.C. engines.
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Answer the following in short :

(a)
(b)
(c)
(d)
(e)
()

Make a sketch of a Bevel gear.

Give the location of safety valve on a boiler.
Name the ignition systems used in I.C. engines.
Define stroke length.

Give the function of nozzle in a turbine.

Name two cars that run on diesel.
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